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s1. wp = 0.45 GeV and uy; = 1.7 GeV for PDG data;
s2. wp = 0.43 GeV and uy; = 1.6 GeV for Belle data;
s3: wp = 0.41 GeV and up, = 1.5 GeV for BaBar data.
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EHIDSZEL (BB 10)

mode B~ — 7 m° B — ﬂ"ﬁﬂ B~ = n%K~ B- 5 KK~

PDG 3.01x0.4 23.71+0.8 12.91+0.5 1.31:4:0.17
0.184-0.164-0.27 1.7343.69+42.50 0.93+41.95+1.1 3+40.3440.18
S1 ®B1+¢B2 3. 04+n i?ﬁ} iﬁ-l-(] 25 24. 12+1 6{]+3 32+2 36 13. 15+D 8?+]i 76+11 nlr L. 95+3 }3+0 3u+n ]16
0.1440.15+40.14 1.3642.97+1.30 0.73+41.57+0.58 0.1140.2740.07
PB1 2. 16+u 13+u 10+U 13 17%. 89+1 zu+.a batl 24 g‘Tli—U.GSi—l.allt{J.ﬁﬁ 1. 45+U 1u+u 25+u 06

Belle 5.86+0.46 23.97+0.89 12.62+0.64 1.1130.20
7+0.1940.1840.29 1.724-3.8342.51 0.9342.03+1.12 0.1340.354-0.17
S2 ¢B1+¢B2 3. 23::- miu.wtu.z? 23. 87+1 ﬁﬂt3.43t2.38 13. 03+u 87+1 8.3—'—_1 07 L. 88+0 1z+u 3.1+u 15
0.1740.15 1.364-3.0841.30 0.7441.6440.59 0.1040.294-0.06
¢B1 2. 27+n 11+n 1ﬁtn.14 17. 6“PL1 2=3+2 74+1 25 9. 60+n 68+1 zmtn.a? L. 38+n 1n+n 2r+n.05

BABAR 5.0240.54 23.94+1.5 13.6+0.9 1.611+0.45
0.2140.204-0.32 1.714-3.96+2.51 0.9342.1141.12 0.1240.364-0.15
S3 ¢B1+¢B2 3. 42+(J 19+0 2ﬂ+0 30 23'49_-|_1.58t3.53t2.38 12. 87+D 86+1 Bﬂtl.(}'i' L. 79::1 12J-r{).32i0.13
dp1  2.30T0101018HEN0 1730t IERSININL  ou4MITHIIONGE  13030i0t0Rers:

0.67— 1 51—0.57

0.09— {}26 0.04
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=k N = 10-
B, — PPEZIRERISZLL (BBfiZ: 106)
—0 —0 - —0
mode B s atn™ B — 7%7n° B > ntK~
PDG 5.1240.19 1.59+40.26 19.61+0.5
¥ 0.3440.37+40.47 0.024-0.04+0.01 1.44+3.1342.05
S1 ¢B1+0B2 BB e A 6 &5 0:241 502 "o os 001 20.077 133" 2,81 1.04
0.254+0.3140.23 0.0140.03+0.02 1.14+2.53+41.07
$B1 3-81J—ro.23to.30t0.20 0. 19+0 01+0 0'3+o 01 15-00:.055.2;1.02
Belle 5.04+0.28 1.3140.27 20.00+0.69
0.364+0.4140.50 0.02+0.04+0.01 1.434+3.2442.05
S2 ¢B1t+¢PB2 5-82J—r0.3-.1t0.39t0.45 0. 24+u Uz+0 01+0 01 19. 81+1 35+z 39+1 95
0.26+0.3440.24 0.014+0.03+0.02 1.14+2.62+41.07
¢B1 3-99J:0.25J:0.3:;J:0.21 0. 18+u 01+0 m+0 01 14-76t1.05t2.32t1.02
BABAR 5.54+0.5 1.8340.25 19.1+0.8
i ; 0.3940.4540.54 0.02+40.04+40.01 .42+3.34+42.04
5'3 ¢.Bl+¢32 b‘121—‘{].3(3'——|~_U.43t0.5(] 0 2"‘;—i_[jl UE+U {]4+U 01 19'45——+_}.31t2.9?'t1‘94
40.2840.3740.26 +0.0140.03+0.02 o+1.13+2.704+1.06
®B1 4.167 )56 036023 0.18%576120.03—0.01 14.4377 64 538 1.01
=0 —0 =0 — —
mode B — n°K B 3 KYK- B — KK
PDG 9.940.5 0.07840.015 1.214-0.16
+40.66+1.48+41.15 40.0034+0.0054+0.062 40.104-0.2540.05
S1 ¢B1+0B2 9.117 61 132108 0.107~¢ 003 0.004—0.048 1.4375 09 0.23—0.03
o1 GEIUEINE poerIRMCNN iosijleraaian
Belle 9.684+0.68 0.10+0.09 1.26+0.20
L 0.65+1.53+1.15 0.0034+0.0054+0.065 0.1040.2640.03
S2 ¢B1+9B2 8. 95+0 bl+l 36J: 1.08 0. 109+(1 (:03+0 0(14+u 050 1. 37+u 0()+u 24+ 0.02
0.52+1.2240.60 0.0034+-0.004+0.050 0.0740.224+0.04
$B1 6. 67+0 48+1 osto.s'r 0. 091+0 00: 3+n 004+0 039 1. 01+0 07+0 19+0 02
BABAR 10.1+0.7 1.0840.30
. : 0.64+1.57+1.15 ).003+0.005+0.068 5n+0.0940.27+0.02
Sd ¢Bl+¢>32 8‘751_{].601_1.38t1.%); 0 111+:J 003+U 0{J4+0 UL:JQ 1'30——+_0.{]8t0‘2;t{}‘01
40.5141.2640.60 40.0034+0.0044+0.053 40.074-0.2240.05
®B1 6-50—0.37—1.10—0.57 0.0932¢ 603-0.004—0.040 0.947 06 0.20-0.03
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—2.9+4.0
0.0240.05+0.16
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—8.31+04
0.2040.4141.98
—0.30—0.44—2.04

0.3340.49+2.38
—=0.34—=0.54—2.54
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EHICPIEIA (BBfZ: 102)

C?T+’]|T_ S‘TI.’+?T— C’ﬂ‘oﬂn S#D'ﬂ‘{"
PDG —32+4 —65+4 —33+22
+0.5540.05+3.84 40.174+1.574+2.43 41.39+41.784-5.37 40.49+41.1340.97
oB1+oB2 ‘17-85—0.54—0.02—3.42 “‘81-91—0.17—1,52—1.95 38-34—1.37—1,57—5,‘10 89-03—0.51—1.38—1.21
+0.7140.134+4.96 £+0.154+1.654+2.94 +1.60+41.86+4.49 +40.534+1.324+0.35
$B1 _21-52—0.69—0,10-4.52 _80'1‘)—0‘16—1,60—2.30 39‘06—1.58—1‘62—4,17 85-90—0‘54-1,59—0.25
Belle —33+7 —6449 —14+37
» =+0.5140.0543.52 +0.164-1.5542.34 +1.4141.9145.29 n+0.5041.3140.83
—4U-iY_p.52—-0.02—3.11 Y-8 0.16—1.50—1.91 = _1.40—1.68—5.09 Y9 _0.51—-1.63—1.09
¢oB1+0OB2 16.75 83.12 37.29 88.69
4] p 5 5 ] ' ] E & e 2. 3. ‘r* .:— o
PB1 —20.241 068 0 0ot aqs  —8L46T0 13T IR0 37.651 16 T 7 5 se 2L IS Bl
BABAR —261+8 —68+10 —431+26
- . +0.484-0.05+3.23 _ 3 a0+0.154+1.53+2.24 4+1.4342.0845.21 +40.5041.554+0.70
¢B1+0B2 15-72—0.49—0‘02—2.32 84'33—0,15—1.48—1.85 36‘32—1.42—1,80—4.?4 88‘11—0,51—1.96—1.00
+0.6340.12+44.20 +0.1441.6242.77 +4+1.6642.224-4.47 +0.5541.8340.37
B1 _19'04—0.64—0.[]9—3.7ﬁ _82'79—0.14—1.58—2.24 36-33-1.53—1.39—3.51 84-65—0.55—2.27—0.37
C,Tuf“ Sﬁufﬂ CK""K— SK+K—
PDG 0+13 58+17
= 4+0.0140.0540.25 +0.0240.164-0.20 +0.4540.7940.13 +0.9441.5940.95
¢B1+@B2 —0-*34—0,01—0.05—0,21 5874—0.02—0.13—&15 “81-17—045—0.70—2,04 _28'21—0.93—1‘58—0.53
=+0.0140.06+40.36 +0.0340.1840.13 +0.4640.6740.27 =+1.0241.2540.35
¢‘Bl _O-Sd—n.nl—u.nﬁ—o.al 69-29—0.03—0.15—0‘14 "82-90—0.45—0.59—1.24 _28-30—1.01—1,27—1.24
Belle —14+4+14 67+32
- +0.0140.0540.27 +0.0240.1840.20 +0.44+40.88+0.11 +0.94+1.664+0.24
®B1+®B2 "0-60—0,00—0.05—0.23 68'86—0.02—0.15—0,16 ‘81-26—0.43-0.78—1.96 _27'97—0.92—1.65—0.12
+0.014+0.0740.39 +0.0440.2140.15 +0.4440.7640.25 +1.014+1.3540.75
?B1 _0-93—0‘01-0.07-0‘34 69‘40—0,04—0.18—0,16 _83'11—0,43—0.67—1‘24 _27‘65—0.99—1‘37—1.80
BABAR 13+13 55420
+0.004-0.0640.30 4+0.024+0.214-0.20 40.424-0.9740.08 +0.934+1.7140.35
®B1+0B2 _0-67—0,00—u.0?—0.25 68'99—0.02—0.18—0.16 _81-24—0.41—0.37—1.31 _27-80—0.92—1.?0—0.5{;
+0.014+0.0840.43 £ a9+0.0440.2440.16 +0.4140.8640.25 +1.00+1.45+1.18
?B1 _1'02—0.[](}—(].09—().36 69-03—0.04—0.20—0.17 _83'19—[].40—0.76—1.24 _27-06—u.99—1.46—2.44
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